a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10°|

G(0 X) (um)

10}

1.UD!

Ratio

.

10 15 20 01510 5 0 5 10 15 20 %0 =40 20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)
M_CRF_SoftQCD )
M_mkFit_SoftQCD-noDNN-baseline
M~mKkFit—SoftQCD-noDNN-fix

10?

10

L H H L H H H L L

B =15 =10 10 15 20 10 15 20 560 =40 =20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)

Ratio

.

NI
(@]
|
=
(&)
|
=
o
|
a1
o
(&

0(0 z) (M)

10%[

o(0 z) tor merged vertices (Um)

Ratio
Ratio

L

10 15 20 10 15 20 %0 40 20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


